24 919 A A1) oA B(2) 7kA]2] A2 E g WMoz k= HA
7+4 ABCD & 13ith. BD=BP, AC=AQ ¢ A P, Q & 524
Aol A&, P(a), Q(b) ©l tdt] a—2b & gHe?

D C
v A B v
P 1 2 Q
@—3@ @ -22 ©ON
@ 2 ® 4

Q1+ Vv2), P(2- V2)
sLoa-2b=(2-V2)-2(1+ V2) = -3V2 °|t}.




)
——

NI

SR

0a

wl-elm, ol 47}

=
=

7}

<

,_.._AJO

oT
o

® A%

<

‘ol
oln

Wl

3
e
=
|
~




1
O
@ x=1FE=x=2

1
xX=-=
2
x=-1

1
. :6EJE‘ = =
X X 2




D (x-3)2%2=0 @ x*-4=0
® x+6x+9=0 @ (2x-1)?2=16
@ (x+6)(x-6)=9

Dx=3
@ x==+2
®x=-3

5 3
@x—g,—i
® x = +3V5




y=-2x>+8x=-2(x-2)2+38
x=2 ¥ o, ZTgE 8 ofrt.




6. o= I"HANA y-x 9 g2?

cos30°:B:ig y=12
y 2
sin30° = ~ — - olBg y—¢
12




2 J"HH 90 E «C=90°
7447+ ABC 9] W Yol
, A D,E,F &= HHolth BE =
5cm, EC = 3em € o, AB o] 2

ol&?

kI o I

@ 10cm @ 12cm @ 13.5cm

@ 15cm @ 17cm

S ~
BD = BE = 5cm, EC = FC = 3cm ©] 1

AD = AF = xcm 2} SHH

224423 o) Hetaes Felo] s

AB’=BC +AC

(x+5)% =82+ (x+ 3)?

2o x=12(cm)

webA AB = 17cm ©|th,




8.

fijo

A< HHo P = =]
V2 O] B BES a, 2 B

b 2kl

@ -1+2v2 @ -2+2v2
@)-3+5+2 ©® -4+52

oo, 2¢% 4 5b 9 FH2?

® -2+442

B

1<V2<20|BR2a=1b=V2-1
2a% +5b=2x12+5x (V2-1)
=2+5V2-5

=-3+5v2




9.

(x+y)(x+y+6)+9 5 2

filo
©
op
_O|L
2
e
4
A
:cé
_O|L
=)

~

@(x+y+3)2 @ (x+y-3)?
® (x-y-3)2 @ (x+y+3)(x+y-13)

® (x+y+3)(x-y-3)

B

x+y=A 2 2gstH

(£4) =AA+6)+9
=A2+6A+9=(A+3)?
= (x+y+3)?




10.

vl 7He] Mg 4, 6, a, b 2] Fto] 5 0]al, 24te] 3 & u, a® +b* 9]

w@H2?

@® 20 @ 40 (@)60 @ 80

® 100

B

AT 4, 6, a, b2 Fto] 50|22

4
“+“+b=5, a+b+10 =20
a+b=10---O

E, Eiol 30lB2
(4-5)2+(6-5)2+ (a-5)2+ (b-5)?

0 =
1+ 1+ a?-10a+ 25+ b? — 10b + 25 e

4
a’ +b*-10(a+b) + 52

- —

a’>+b?—10(a+b) + 52 =12
a®+b*-10(a+b)=-40---©
O] Aol @= tdstH
wa?+b*=10(a+b)—40 =10 x 10 - 40 = 60

3

3




11, ©he 28e B3 x o Zo|S T

O 2.1 @ 2.2 ® 2.3 @®)2.4 ® 25




12, o Z A2A2EA A

tlo

= 7219

@ 2,4, V10 © 3, V15, V23
© 5,12, 13 @ V91,53, 4

@ 2+v3, 3V5, 27

va.0 @Qee 06 ©®06

® e

@ 4?2 > (V10)? + 22
© (V23)* <32 + (V15)°
® (3V5)* > (2V3)* + (2V7)°




13. thg 293} Zo] Eo]7} 4em ¢l B4HZEE ADF 9] 3F ¥ =o]&
She B4719 ABC ©f Yol 22w?
A
F
X
ral
B D
4
@ 329\/301112 @ 409\/§cm2 ® 89\/§0m2
56 V3 64V3
@ 5 cm? @ g cm
AADF o4 AE = Véﬁ 4. AD- %g(cm
_ _ 1
AABC o4 AD = \?AB = %3 S AB = ;(cm)
4
(AABCE] Hol) = % x ? x %g - %g(cnﬂ)




14. 293 22 aABC oA A = C
60°, AC = 12, AB = 16 & o, BC ¢

Zol=?

@4\/1_3 @ 6V13
® 8V13 @ 10V13
® 12V13

8

BC = /(6V3)2 + 102 C
= /108 + 100
= 1208 = 413




15. ohZ 294 PA,PB £ ¥ 0 9 H4dY o, AB 9

>

O 12 (@)8«/5 ®12v3 @8

B

® 10

LAOB = 120° °|E & /APB = 60°

watA] APAB = F4Z-g ol

[AOP =60°°]|E2 1: V3=8:AP, AP =83
. AB =83




